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1. Use the Laplace transform to solve the following problem: (15%)

Y +4 4y =0; §0)=0, y'(0)=-7

2. Abody of mass m falls from rest in a medium for which the resistance (Ib) is
proportional 1o the velocity (ft/sec). If the specific gravity of the medium is
one-fourth that of the body and if the terminal velocity is 24 fi/sec, find the

distance traveled in 3 seec. (15%)

3. Solve the differential equation:

(2x+1)*
4

Y+ 2x+1)y ~6y=4x* +4x -1 (15%)

4. For the following differential equation, find the first five terms of each of two
linearly independent series solutions.

Xy +dxy +(x* +2)y =0 (20%)

5. Solve the following differential equations.

(1) 4y"+36y=csc3x (15%)

2y y+y=7@), »0)=5 (20%)
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